
#3 BitReverser

Bit reversal canbe achieved by wiring only :
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conditional bit reversal uses nnuxes :
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#2 Pop Count ①

Just need to sum up all the bits -

b must preserve the correct

bit " significance
"
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Here are 2 possible solutions using
a b

just FA cells ,
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output must be 4 bits .

✗
I ,

- -
- -

-
- Xo

a-¢1#¥1T
E-¥45s

☐E¥T
f. i
Y3 Yz I To



¥3 ②
✗7×6
I 1

☐- ✗s

h ✗ 4¢☐-×}{ 1×2
☐-☐→ .

[¥1m☐~☐→☐→
ft to

43 Ja Yi yo

Remember Coot has 2x significance
of s .
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Notes :

• Multiple options exist for implementation

of decoder , write enable
a row select

logic for write .

• reading must be mvx
based -

tristates permitted .
• Best solution oses

" split FF design
"

.

2 Transparent low uipot latches
then 8 transparent high latches
in the array OR
8 transparent

,
nwlatches in the array

&

2 transparent latches
at output ,


